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A knot diagranﬂ Ce C3 C4 cr Co cl

Ideals for irreducible component#ﬂ)f Xpar

It = (—u*? —u* w4 b, —11u* — 260 4 -+ 20+ 15, w4+ 3ut 4+ —3u—1)
Iy =(ba*—a+1,u—1)

* 2 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(—u*2—utr 4. u2+b, —11u*2—26u*'+- - -+2a+15, u*3+3u*2+...—3u—1)

(i) Arc colorings

o= ()

1
ag = 0
1
a7= u
u
as = \ —yd 4 u
( o)
17 24 1B3utt 4~ 13u—
w2 4ot 4 ug—u2
%u42 wdl 4 _~_u+7
ag = \ gy —3u? — 208 + 404" + 4ub — b —4u —u4u
az = (u5—u +u>
5ut2 + 11u*t + - — 11u —6
a; = 342_’_3u41+ 2’(},—;
11 42+11U41+ 11u_7
ag = utt 4+ 200 4 — -1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6u*? — 15u*! + .- + 19u + 13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,C8 u 22+ -1

C2 ut —23u*? + -+ 3u—1

c3,Ce uB F3utr 4 —3u—1

C4 ut + 150" + .- — 136u — 16

Cs, Co ut —u? 4 4 8u—4

7 ut® —2u*? £ £ Bdu—9

€10 ut 200" + -+ 8u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

C1,C8 20yt 4 48y —1

co g 3y 23y — 1
cs3, Cg Y 23y 4. 43y —1

Ca y*® 232 + - 4+ 4128y — 256
cs, Co y* + 15y%% + ... — 136y — 16

e y*® —4y? + ... 42520y — 81

C10 Y + 8y + -+ 140y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.702205 4 0.6924261
a = —0.216763 + 1.0635301
b= —0.000164 — 0.4277371

—5.79250 + 1.331271

—3.13829 — 0.681191

u = —0.702205 — 0.6924261
a = —0.216763 — 1.0635301
b= —0.000164 + 0.4277371

—5.79250 — 1.331271

—3.13829 + 0.681191

u = —0.781262 + 0.5862541
0.083513 — 0.7515311
b= —0.318284 + 0.0783341

a =

—2.37041 — 2.313401

1.61332 + 3.657941

u = —0.781262 — 0.5862541
= 0.083513 4+ 0.7515311
—0.318284 — 0.0783341

—2.37041 + 2.313401

1.61332 — 3.657941

0.983429 + 0.4019881
—0.18299 + 1.511781
0.95580 — 1.216351

0.117899 + 0.6947631

2.77512 — 0.936351

0.983429 — 0.4019881
= —0.18299 — 1.511781
= 0.95580 + 1.216351

0.117899 — 0.6947631

2.77512 + 0.936351

= —0.856054 + 0.6628321
= —0.459912 + 0.5825891
0.671689 — 0.3158581

—5.34910 — 6.481851

—1.72488 4- 7.045511

—0.856054 — 0.6628321
—0.459912 — 0.5825891
0.671689 + 0.3158581

—5.34910 + 6.481851

—1.72488 — 7.045511

—0.225042 4 0.8621921
—0.295884 — 0.3305421
1.27608 — 1.187591

—1.69061 + 8.497521

0.86281 — 6.510331

—0.225042 — 0.8621921
= —0.295884 + 0.3305421
= 1.27608 4 1.187591

—1.69061 — 8.497521

0.86281 + 6.510331




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.344780 + 0.7582521
—0.130381 — 0.8113331
0.921218 — 0.5141971

—4.05606 + 1.058911

—2.88403 — 0.525751

—0.344780 — 0.7582521
= —0.130381 + 0.8113331
0.921218 + 0.5141971

—4.05606 — 1.058911

—2.88403 + 0.525751

—0.199953 4 0.8004571
0.051467 + 0.3722421
—0.93072 + 1.171071

0.47003 + 3.497971

3.95877 — 2.643581

—0.199953 — 0.8004571
0.051467 — 0.3722421
—0.93072 — 1.171071

0.47003 — 3.497971

3.95877 + 2.643581

1.178400 + 0.1070201
0.396216 — 0.0247151
—0.090847 — 0.4848931

0.86535 + 1.348771

0.663414 + 0.5231981

1.178400 — 0.1070201
0.396216 + 0.0247151
—0.090847 +- 0.4848931

0.86535 — 1.348771

0.663414 — 0.5231981

—1.113040 + 0.4112751
—1.45881 + 1.050161
—0.432177 — 1.2428201

3.14686 — 0.233941

6.25545 4 1.769171

—1.113040 — 0.4112751
—1.45881 — 1.050161
—0.432177 4 1.2428201

3.14686 + 0.233941

6.25545 — 1.769171

1.140070 + 0.4374961
—0.80318 — 1.929691
—0.35123 + 1.925711

4.51030 + 2.457031

9.07720 — 1.395241

1.140070 — 0.4374961
= —0.80318 4 1.929691
= —0.35123 — 1.925711

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

4.51030 — 2.457031

9.07720 4 1.395241




Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = 1.126240 4 0.4858571
a= 0.62977 + 2.310791
b= 0.62085 —2.170171

2.59778 + 7.422161

5.67783 — 6.163021

u= 1.126240 — 0.4858571
a= 0.62977 —2.310791
b= 0.62085+ 2.170171

2.59778 — 7.422161

5.67783 + 6.163021

u = —1.139980 + 0.4551191
a= 1.12604 — 1.465011
b= 0.68367 + 1.401371

4.38701 — 5.486451

8.10083 + 6.462101

u = —1.139980 — 0.4551191
a= 112604 4 1.465011
b= 0.68367 —1.401371

4.38701 + 5.486451

8.10083 — 6.462101

u= 0.769344

a = —0.716816 1.12210 9.24310

b= 10.736269
u = —1.116400 4+ 0.5563881

a = —0.04192 4 1.414331 —1.77735 — 6.011041 0. +4.922631
b= —1.30408 — 1.105641
u = —1.116400 — 0.5563881

a = —0.04192 — 1.414331 —1.77735 4 6.011041 0. —4.922631
b= —1.30408 + 1.105641
u= 12077704 0.3373291

a = —1.27016 — 1.083381 4.74199 + 0.211541 9.28481 4+ 0.1

b= 0.27337 + 1.444431
u= 1207770 — 0.3373291

a = —1.27016 4 1.083381 4.74199 — 0.2115471 9.28481 4+ 0.1

b= 0.27337 — 1.444431

u = 0.596984 4 0.4062481
a= 137593 —0.783491
b= —1.384640 — 0.0717811

—1.01538 + 2.848651

1.39768 — 5.436361




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u= 0.596984 — 0.4062481
a= 1.37593 4 0.783491
b= —1.384640 + 0.0717811

—1.01538 — 2.848651

1.39768 + 5.436361

u=1.253070 + 0.3018631

a= 151757 +0.681221 3.01994 — 4.679181 0.4+ 5.375731
b= —0.561583 — 1.2319101

u= 1.253070 — 0.3018631

a= 1.51757 —0.681221 3.01994 4 4.679181 0. —5.375731
b= —0.561583 + 1.2319101

u = —1.177230 + 0.5352541

a= 0.33951 — 2.062301 3.34693 — 8.443631 0

b= 1.28426 + 1.591041

u = —1.177230 — 0.5352541

a= 0.33951 4 2.062301 3.34693 + 8.443631 0

b= 1.28426 — 1.591041

u = —0.674002 + 0.1185001
a = —0.26643 — 1.828301
b= —0.006255 — 0.3819271

0.77235 — 2.357531

—0.15632 + 5.039881

u = —0.674002 — 0.1185001
a = —0.26643 4 1.828301
b = —0.006255 + 0.3819271

0.77235 + 2.357531

—0.15632 — 5.039881

u = —1.191540 + 0.5595371

a = —0.06666 + 2.266381 1.20075 — 13.706901 0
b= —1.51037 — 1.661311

u = —1.191540 — 0.5595371

a = —0.06666 — 2.266381 1.20075 + 13.706901 0

b= —1.51037 + 1.661311

u = —0.025551 + 0.6216061
a = —0.721932 + 0.4543681
b= 0.017381 4 1.186670]

1.39154 + 1.442621

5.16219 — 3.231911




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.025551 — 0.6216061
= —0.721932 — 0.4543681
0.017381 — 1.1866701

1.39154 — 1.442621

5.16219 4 3.231911

0.176403 + 0.5911731

—0.682100 — 1.2258201

—0.03125 — 3.161181

2.63487 4 2.306471

0.176403 — 0.5911731
= 1.253380 + 0.3483191

U
a
b
U
a= 1.253380 — 0.3483191
b
U
a
b= —0.682100 + 1.2258201

—0.03125 + 3.161181

2.63487 — 2.306471




II. I¥ = (b, a®> —a+1, u—1)

(i) Arc colorings

w= (1)

w= (o)
o ()
w= (o)
o= (o)
o= ()
o= ()
w-(7)
o= (o

o (2

(ii) Obstruction class =1

(iii) Cusp Shapes =4a + 7
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7,C10 w—u+1
2
C2,C3 (u + 1)
2
C4, Cs5,C9 (%
€6 (u—1)2
Cs wHu+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
61767368 y2+y+1
€10
2
C2,C3,Cq (y_l)
C4,C5,C9 y?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
u = 1.00000
a = 0.500000 + 0.8660251 1.64493 — 2.029881 9.00000 + 3.464101
b= 0
u = 1.00000
a = 0.500000 — 0.8660251 1.64493 + 2.029881 9.00000 — 3.464101
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

‘1 (u? —u+1)(u®® +2u*? + -+ 4u? — 1)

C2 (u+ 1)) (u* —23u*? + -+ 3u—1)

Cs (u+1)?)(u*® +3u*? + - = 3u—1)

€4 w?(u' + 15u*? + - — 136u — 16)

cs, Co WPt —ut? 8y — 4)

Ce (u—1)?)(u*® +3u*? + - = 3u—1)

cr (u? —u+1)(u®® — 20" + - + 54u — 9)

c8 (u? +u+1)(u®® +2u*? + -+ 4u* - 1)

10 (u? —u+ 1)(u*® +20u*? + -+ 8u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1,cs W +y+ 1" +20y" + - +8y — 1)

€2 (y—=1*) (" =3y +---+23y—1)
€3, C (y— DA (y* —23y*2 + -+ 3y — 1)

C4 y? (y* + 23y*2 + - + 4128y — 256)
Cs, Co y? (y* + 15y + .- — 136y — 16)

c7 (v +y+ D) (y* —4y* + - + 2520y — 81)

c10 (1 +y+ Dy + 8y + - + 140y — 1)
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